E 4A

7H (OK) 8H (K) 98 (&)
k3% BER% —AN&Y | [#z2 BER% —AEY | |#iz B4 —AHY
ERDE ERDE EhRYE
h EEk(ER) 68| X [BEX(EFH 60| |2 |Iwsty 50
AR EEEICES) 75 |5 HEEX(EE) L1 B A 50
5 o |REE B 6| 7%
AT 206 kHiE B 18 S E 206
z LS
~ |HEA RSAR 20| |z, |4EL 206| |4 (e m-EuL Auk 15
= |E)RLUXE 5 2, [me ti-mEL Huk 10
& Lontng g Eomhyk 40] (LN GA) %LV 2 X 4em 45 Cohtlg B E2mhyk 40
A |FhE BOE 40| | |BrLEE 1 | [EhE kb= 30
- Az 15] | O 15 & [Feny 20
. |RTEEE 5 i EE 12| |7 Az 10
7 B kkE 5 |x % A =F;) 0.9/ | Y545 1
BALIZAIZK 05| |32 hL—# 05| | (LR R —F 3
ey 1 [ [TARA 8| | |Fxravyux s-mimE 0.6
A IDEH 5.5 X% 3|15 (B 0.5
C [¥35H 45| | |Lftdm o—Y— 7| |7 |SLgS 0.03
A HL—% 1| |&F o—yx 0.1
Y lrnssz—7 3 |F [ 17 Eli B 80
,; HRE—Y—R 3| [* [xBoL 28 |,
HRE ST 2| | [AZ 5| [, [Az 22
o BRETFevT 2| |x ([HELHDY 12| | [Ew3Y 25
@ |[LADDY—R 1 (& [|EOEI] 12 (LM FESHME 7
7 |BOE; 1| |@ YACEE 2
I |Feys 1| |# [EXE 30 BE 1
t [(a# 08| [T [Az 7 % AG=]; ) 0.4
i 0o4] [T [T 7 *Y—T i 03
FEL YA GBS 05 &) FLbhd Ak 0.5 Y545 0.3
= 90 hE 3 Bif 0.2
PHZ 5 cL&S 0.02
AS 22 HHZ 2
B EDPVAIFA 20 ELETFL 3 (E)I—J Lk BHHik 70
(LM R—a—y 5 & 105
BAEORLYL LY - BiikE 4.5
(E) NAAYT—EVE 8




E 4A

128 (A) 138 () 14H (K) 158 (K) 168 (&)
wos|  RBE | —ASY | |gue|  R&RE | —ALY | (mxs|  AR&E | —ANY | |kue|  RRE | ALY | (mza]  RRE | A%y
Etks 8 Etis 8 Ets 8 EtsE Eti5 8
C  [HEk(ER) 68 |E |[HWEX(EH) 60| (= [HEX (B 68| |- |[HEX(BE) 60| 3 [aymsty 50
I3 akER) 75| |5 [EEXER) 70| | ek (ER) 75| |7 [ e o of [V [ausssty 50
~ % kpiE FiE 8| [* e P 6 :\\
4 [EE 206 KpiE FiE e |EER 206 E b bl 02 |, |[£Z 206
) 4% ) E i Ec v 3
FRIVTF 10| [z, 43, 206 BKAIVF 15| (4 (LR EFOIHRAL 58 20| |4 |mA M-®EL hub 30
L |BARIVTF 15 | CR)EEEE Ak 65 A5 3 |13, |mE tb-mHL Avb 20
v BB 1 |& |BE RSM4R 25| & |ERE BOE 0| [ |[CRHTERE 3 ThSRA 5
o 0| 1B |EE 112 [As 10 B [EOBH 25| | %8 2
W [ERE goE 20| |2 |wsssE yro0 15 B [ChoEge 5 | [#Y4 1| (B [taftosl o—y— 7
;ES DECAIZBL(N—D) 20 E‘; FhE BFLE 30 2 EFLLLES X547 0.8 i Big 0.7 f/) FhE FUE 12
z |AZ 15| | (A 10] |z [B5LEE 03| |;n  |[ELET 05| |z |AZ 5
F  |[RTERT 5 | |CREPVATA 1 |z |BBLIZAIK 02 g |HSHi 035 v, |¥SHH 05
2 |USEH 1 @ FLLN=E RS54 1 [l [CFH 1 |o 7z |BLEVEH 35
& [EOZEH 35| (v [[BOEH 33| |» |FHE 5/ |& |45 206| |1 |(EbEE(LEEB¥E) 3.2
BbHE (R XD 19] [ |EEE(=EH) 19| |1BE | EE 3| |8 *  EOE]) 1
T A 1| R |&E 03| | |ROE 21| |R  [TAsS 6| | [TASA 02
T A 0s| |2 [935 1| |F [mmEEs 19 |, [hh bbssom is| 1% [ 5
v |2 8l | 1B 65 ;; Th b 05| |3 [S1E> ExAtE 20 3
P - = |3 20| |« |EZEbhs Hvk 18] |5 |[Ew3Y 25
£ |Eeny 2] |0 [naz 1] |5 v BYBCE 1| ¢ [EEL 20
< | RbBPL 25 AHL 28] |k [REWHL 25 |l [ZFH 0.7 (LR F—)a—y 5
) AS 5[ |& AS 5| |L Zp5Y 20| (& EOE] 2.5 |2 BUFUEL YL S 45
A |t BA HH 5| | |BOEH 12| [v (A 5| | € |EbEE () 12| [#
P IS 12| (Y |ros B s 1Y (RO 23| 't [#YA 04| [ |[A—ar 2542 7
A |3ucE 12| |? ~  |&E 2| | [ELH 0] |b [EaE oz 25
" B [Essumz 8| |7 [pmcam 5] |2 T eesve mosmmmr 20
5 |[E#®ME 40| | ™ P e 5 06| | [CR)EE Ak 20| |5 |BEVATFAZ 10
- WYBITFE 500g 1 (L ik 10 8 hhkE 15
th v EeRY 20 BaALIZAIZL 0.1
0} o hhFE 3 Y55 1
7 hHE 6 (L) PHHR—F 3
- HAZ 2 FTAESHE 1
ZLBIVET fFRE 3 A AL 0.6
ELE®R 1 Bif 0.3
) 100 cL&S 0.03
FErary; I ikE 0.4
EBEEALLY 1/anvk 50 (LB 0.1
o—yzT 0.1
p:) 90




198 (A) 20H () 218 (K) 22H (K) 238 (&)
HiI% BEmf —AN&Y | |®zs BEmfd —AN&Y | |#us BEm% —A&Y | |mIs BEmE —AN&Y | |#us BEmd —AzY
E®RDE E®RDE TR E EHRAE E®RAE
HEAX(ER 60| | X Bk (EFH) 60| |2 |2/ 50| |7 Bk (B 60| [T |ZyRsRy 50
= |BAX(ER 0| |5 [BEXERD 70| |7 |ayRisy s0| | [6% 12| |7 |3y 50
UET T of [ [xmz zm 6 (7% o [pevonmon o 1] |
% KpiE FiE 7 KpiE FiT 2A R S 5= 206| |5 |BIE 0.15 | 43 206
¥ — Mz
= #® WYBRIFE 500g 0.7
iz [EER 206| |3, [4E 206| |4 |mE B-EGL Ak 18| |za [HS&H 02| | |GRAEEAS 30
A 2, [ vt-EHL Huk 12| [ |, Cesing BEE2mbyk 40
- |BA _RSAR 25| |BE |BE RSAR 20 FhE ROE 40[ | |4EL 206 FhE ROE 40
BrLEE 02| B |E&E 1|7 |eesint moszmnsr 30| |E A Az 15
sllF ISE-7 12| |7 [BaLEz 0.1 IIJ A2 10 B |us wmsLasom 30 TY X hobk 10
A 1 t_ G EBIF Avk 30 1, I ¥ huk 10| [T s semmmmm 20 g A UVELCEKE 10
Mmoo [ AvbEdE 15} |15 [ubrioskon sy 25 |5, BTERT S5 |+ EOEH 15] | AN )] 0.5
3 | FxTHA 20| |y [SEF> fer-SmE 20| | [H3FH Uz [EE 15) |=  |8ALISAIS 05
1 | ERE ROE 20| [z |AB 15| |2 |[hEH 5 |L |BE 02| [ |HS&H 1
v |AB 8| |m [L&HL | [I |55 4| [+ [SL&D 0.02| |& |HiE/NNE— 0.5
D |EFLLnEE 2542 1 |1&E  [BEenalfa 7 (LR BHR—F 3 H—=) w189 & — 0.17 k& 25
7 antdoskon sk 10| ¥ 434 1|1 |&& 04| |3 [TASA 8| |7 [r=bTFrvT 3
7 454 1| [, [ROoZm 23] |7 LS 008 |= [x# 3 '|J T SESH 1
T [z 05| & [wmGhm) 25| |2 [raomvs nomae os| b [t n—y= 1| |, [BEcam [
4 LR ABR—=F ]l P e 3| 03| [{, |AEALE 20| [ ¥ |pRE—Y—=2 0.7
o |ROEH 15) |z K 20| [4 |&EDU—=L 3 BIREMNFEIFE () 12| |5 |zxvavvs oo 0.4
7 |FEavvs demiks 04| [z s [E¥AF—X 3| [y |ansEoctor Hok 15| |4 [BiE 0.3
D |BiE 0.4 FoRy 20| |# [B—UT 01| |5 |Z@EkH 1/28vk 7 ZL&S 0.04
Yoo [ZL&S 0.06| [M |ALBL 30 5 70| [ | FLbse Ak 05| |7 |iB 30
7 |cASA 15| R [BOER 12| |3 7 [hhE 3| ||
vos 40| |?  |zmon A s0e i | Eery 2l |y [EE 1] X [Eery 20
fa 7 [Ew3Y | |, [EoEmH 05 =95V 20
() INED T T4 52| | UED/MRMEE 8l . [AZ 5 BiE 0.3 AZ 5
Gt A—y— 1 |= o lasurskiese s nemis 45 FELAEIVET SRS 3 Y545 1
v B EYIRFYY 15| |ch LEfR 1 3% A =L;)) 1
(E)337Iv2)L 28 (& D Ik EmHEit 70 7K 110 B 0.7
A 7 &8 0.3
?\' = W eEEncsY—L 10 SR (35EAY) 30 ZL&> 0.02
j e S=hTR(43EAY) 30
;e = ) F—X skt 15
& = (E)LWsZHL—F 40
) A
#H Z
~ 7
1
|
L




26H (H) 27H () 28H (7K)
B4 Bmdb —AHY | |#xs Bmd — A&y | |mas Bmdb — A&y
EkHE E®kHE ERDE
Z |[BEX(EHR) 60 X |[BEX(EH) 60| 3 |aux/ty 50
- |HEEX(ER 70| [= [HEXER 70| |7 |ayRisy 50
% [xnz zm of ¥ [rmz z5 6| |78
Kz FFE 7 KpiE FiE |, &R 206
4 _ 4 _
g, |[4E 206| |z, |4E 206| |4  |zmE M-gmL Ak 9
N BA 33-EHL huk 6
K |BAE RSAR 30 | [AEhd 50 BAESHE 1
B |G KEkE 15) |2 [AEbs 0| B [r—ar 2542 10
& ozoazsin—) 20| |°  |&iE 02| [A  [cesvs mosmmmor 30
E CIFE5 fi%-5mEE 30 f;_% § FhE RTE 35
5 A 15] i |[UREPVAIFA 20| | AS 10
1) () EPVAITA 1| |= hAZA WEES53m 12| | L&HL 5
x5 |YIFH 1 A 5| | |[HSEH 05
¥ |EOEH 47| |F [TIEBEEE 12| (v |BS5H 1
hicp] 1.9] (Y B 08| |7 |[HENE— 2
F |#Yh 1o |M O 18] [ [1hEH 2
% |wscmm 9] |2 |[mmCam || [mEEmEn 30
= TARA 1 b - HHY—] 1
x |= 20| |4 |REE Dk 30| |2 |FEravvs s 0.6
1 B |ZRDEEG 1259k 15 1,5 |BiE 0.3
z [y 20| (0 [EDFLbh® Avk 05 |5 [SL&£S 0.05
AHHL 25| |& |Hhta¥FE 5/ & |[B—YzT 0.1
» |AB 5| [ |HpAHE 6l |V [/3+U 05
S [EnEmhm 12| 't [gaz 2| |7 & 45
;)) FYE 08| |, [ELAWES e 3 g
3 o FLEf 1|35 FrRy 20
< (&) HEYHE 8 7K 100 | [ZRISSHR 20
" (LR FECHE 7
%z |(BE)HERTI1v 25 (&) ta 30| L1y [LREw—a—y 5
) BAEORLYLLY LBk 4.5
i c
*x b4 (BB Urh&aT—HYY 16
< ¢
7 N
« 4
v [
—~ Vil
th 1
0] v
&

308 (&)
B % Bad — A%y
E®RSE
*BERER 60
L g 2542 15
7 |pnLEE 0.8
Et BOE; 1.2
4 EBEECESHE) 0.8
(LM BEXLFIEHRA 20
CPN 5
AT ERF 3
oy 9: 0.1
T [&E 1.6
L mng; 27
L
FELavyA E-BikE 0.3
=2
B (&5 206
D
7|< AHPL 25
=p3Y 20
7 )\’i; 5
BEE 2
7 eom 2
s |BEECEEE) 1
CFEih 1
WYBITFE 500g 1.2
HEE Hhuk 30
N—ar RF54R 5
FhE¥ RUE 25
LHL 5
¥ 5
(LR)BDR—=F 3
FEoaUy4 I -BkE 0.4
EOE; 2
BiE 0.3
L& 0.03
Bl 1
TASRA 0.1
S 0.1
b1 100
BT #eaie 60




